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Rubato h = 80 rit. 

mf ppp

Moderato h = 66rit. 6
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Meno mosso h = 60 col la parte Molto Meno, Rubato

rit. rit. 13

mp

A Tempo, Moderato h = 66 rit. 

Meno mosso h = 60
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24

A28

C

Ernesto Leucona arr. Ioan Dobrinescu

Maria La O

3

4

2

2

2

http://www.free-scores.com


pp pp p

30

p mf

rit. 
37

pp

h = 62 rit. A Tempo, Moderato h = 62
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Rubato h = 6048

h = 5653
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rit. 55

molto rall. A Tempo h = 6657
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A Tempo, Moderato h = 62B60
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A Tempo, Moderato h = 62rit. h = 6273
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89

6
4

6
4 C

3 3

3

2

3

3 3

Oboe 3

http://www.free-scores.com

